1. sin(90°-A) = - 4 o, tan A 2] ZE& Fstodzt (HF,0°<A4 < 90°)

O

22 42
@ — e 9

O ===

- ®



B Y
[a ]
H7]
DE BC )
Q Ej © G © siny
C BE
pr— p— t
® e © 15 © tany

g ©




e wsFgeRe R,
= I2A9. v
7 VERR
!J ) \’
@ 0°<A<45°Y Q/f
o, sin A < cos A 2 o

© A=45° o,

Oy

sin A = cos A
©® 45°<A<90°¥
o, 1 <tan A




4. oL IdHoA € = 90° Q uf, sinA +
cos A 9] Ft-& oot

e
=%



thgo] A7k meoh TS FuE ), (1) 7 (2) 9 S vrEA] A4
}.

(1) sinx = 0.5736, cos35° =yollAl x,y°] gt
(2) AAAZFAA 9 &

e sin cos tan

34° 0.5592 0.8290 0.6745

35° 0,5736 0.8192 0.7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225

@ (1) x=136°, y=0.8142 (2) 34.235

)
)

® (1) x=36° y=0.872 (2) 36.215
) x=35° y=0.8192 (2) 40.45
)

® (1) x=36° y=0.802 (2) 36.95



6. U2 1YL o]835t tanx 9 G

T-stefzt. .

Ly 30
@2‘2\/5 @3‘2‘/§ ®2-v3
@ 2(1%2@ ©) 30 _3 V3)



1;]._3_ la]ujq_ é—o] /B = 90° ¢ A ZtAZH Y

12, tanA:Z A o, cosA + cosC 2] 422
-
A ~--_-19----"B
5 7
O — @ —

Ut 3



8.

2sin
45°
cos45°
~+ cos 30 ° si
in30°
9,] 7}
=7

@ 1+
@ 2+

V2
4

V3
4

@ 1+
® 2+

V3

4
V3

2

® 2+

V2






10. o= O3 Zo] vtz F9] do|7t 191 AHEY
of tfste] /DAB = x, /ADB =y, /DEC =z
g o, ohg F &4 g2 A0
@® siny =sinz @ tany = tanz
® tanx =CE @ cosz =sinx

B cosz=1




11.

/B = 90° ol AZHd7Fg ABC of thal A AB = gm o, tan A 9]
7re Fotolar

=g
=%



12. & ZAZH42He ABC oA A =34° Y
o, &=0] BC & F51H? (&, sin34° =
0.5592, cos34° = 0.8290 )

@ 20.141cm @ 21.523cm

® 22.368 cm @ 23.694 cm

® 24.194 cm



13.

%‘ 021-01'_17] —AOH —é

D (3- V3)m

@ (4\/§+ 1)m

& Fatelet.

© (4‘/§—l)m

=
[}

el



ABC 9

,_._mo

N
<E o

FAFZ}
©

N
rr

oly oM
7_E o8

X
= o

op 5
ny mo
ol LU
‘O#U ;O

T T

® a=ccosB

@ c¢=asin(90°-B)

B ¢c=bsinB+acosB



15. AABC oA 0° < A <90° 0], 2cos A— V3 =0 T, sin A x
o] 3 FobH?

1
tan A

© 2 @ V3 @"Z‘l
3 V3
@ 3 © -



16.

ofe) 17 e A
5cm , /BHF = 30°
i

256

cm?®

@ 68V6cm3

1256

cm?

3 125vV6 cm3




17. ge 284
ot

tan B

5 A=

3t

C

A 'SCm’I:I“

“9cm -~



18.

= AC = 2, /ZABC = 30° 2] o]=H
AC o] A4 9ol U=l Ao T
T-tofzt,

HAM 7+
S H gt

ABC ] A B °IA
g ofj, 41 BH 9



19. o5 AR 9 HWelE oozt A D

N

5
120°




20. AABC oA A =60°, BC = 14 ¥ o] AABC 9] ¢]3 Q2] vz 29]
Zol & Fotoizt,

N
14V3

@ 443 ®T
® 6V3

10V3

3
16 V3



21.

= HﬂBc CDA %74741\4 N o]zt
oh AM, AN ¥ tjZt4 BD ¢}o] w
S E, F 2t 512} AE = 10, AF = 12,
(EAF = 30°<¥ u, oEMNF 9] Ho]&

Fstolet.

e g
-




22. AW 2 4 gk F AF A, B Aol AE 7ot Slste] thg
2513} 2ol Zepeteict. o] uf, AB ] Lo|E L5hu?

@D 40V11 @ 40V13 ® 40V15
@ 4017 B 40V19



23. & T 28 AABC oA AB = 24, /B = 60° o] D 7} BC
o] FHd wfj, AD o] Zo|& F5tH?

D6vVi3 @ 6 A 12 @ 1243 G 4413



24. t©he I3 7S AABC o4 AB = 6ecm , BC = 8cm ©]11, Hol7t
12V2em? 9w, /B ©] 27|15 Fatoiat (T, 0°< /B <90°)

/A
60}’1’1,/ ﬁ
L BNy
“T--8em--"



25.

(]

il

9] Ao]7} 3cm 9

o
=
A NS E}] tERE o]Fo)xl



